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QUESTION 1

represents the ability for a cloud-based IT resource to be widely accessible. Select the correct answer. 

A. Resilient computing 

B. Elasticity 

C. Ubiquitous access 

D. Multitenancy 

Correct Answer: C 

 

QUESTION 2

Which of the following types of costs helps justify the leasing of cloud-based IT resources as an alternative to
purchasing on-premise IT resources? SelectALL THAT APPLY 

A. cost of capital 

B. sunk costs 

C. integration costs 

D. up-front costs 

Correct Answer: AD 

 

QUESTION 3

Examples of common up-front costs incurred by a cloud consumer to set up a cloud-based environment for the cloud
consumer include .Select the correct answer. 

A. costs required to purchase hardware 

B. costs required to purchase insurance for the hardware 

C. labor costs required to assess and set up the cloud environment 

D. None of the above. 

Correct Answer: C 

 

QUESTION 4

The Increased Security Vulnerabilities challenge of cloud computing occurs when a cloud consumer organization needs
to enable external communication with cloud-based IT resources. This increases vulnerabilities within the cloud
consumer\\'s organizational boundary because attackers can penetrate the on-premise environment to compromise on-
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premise IT resources within the cloud consumer trust boundary. This challenge does pertain to security vulnerabilities
within the cloud itself.Select the correct answer. 

A. True 

B. False 

Correct Answer: B 

 

QUESTION 5

Which of the following are technology innovations that contributed to the emergence of cloud computing? Selectthe
correct answer. 

A. clustering technology 

B. grid computing technology 

C. virtualization technology 

D. All of the above. 

Correct Answer: D 

 

QUESTION 6

A cloud service can exist as a:Select the correct answer. 

A. Web service accessed via HTTP 

B. REST service accessed via HTTP 

C. software program remotely communicating with a software program on a server using a proprietaryprotocol 

D. All of the above. 

Correct Answer: D 

 

QUESTION 7

The cloud consumer of a cloud service based on the Software-as-a-Service (SaaS) delivery model is usually given
access to the cloud service contract and the service-level agreement (SLA) of the cloud service. Select the correct
answer. 

A. True 

B. False 

Correct Answer: A 
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QUESTION 8

The challenge of Limited Portability Between Cloud Providers can be mitigated if cloud consumers can build solutions
based on industry standards and if cloud providers support these industry standards.Select the correct answer. 

A. True 

B. False 

Correct Answer: A 

 

QUESTION 9

The temporary runtime role assumed by a software program when it accesses a service is known as the . Select the
correct answer. 

A. service provider 

B. service consumer 

C. service agent 

D. None of the above. 

Correct Answer: B 

 

QUESTION 10

A is an event-driven program capable of transparently intercepting and processing messages sent to or from
services.Select the correct answer. 

A. virtual server 

B. cloud service 

C. service agent 

D. None of the above. 

Correct Answer: C 

 

QUESTION 11

Cloud consumers that use cloud-based IT resources can generally lease them with a model so that cloud consumers
pay a usage fee for only the amount of the IT resources actually used, resulting in directly proportional costs. Select the
correct answer. 

A. up-front fee 

B. pay-for-use 
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C. amortization 

D. None of the above. 

Correct Answer: B 

 

QUESTION 12

Which of the following types of organizations can assume the role of cloud resource administrator for a cloud service?
SelectALL THAT APPLY 

A. A cloud consumer organization that owns the cloud service. 

B. A cloud provider organization that owns the cloud service. 

C. A third-party organization contracted by the cloud consumer to administer the cloud service. 

D. A third-party organization contracted by the cloud provider to administer the cloud service. 

Correct Answer: ABCD 

 

QUESTION 13

A typical service level agreement (SLA) document for a cloud service will cover which of the following
characteristics?Select the correct answer. 

A. availability 

B. reliability 

C. performance 

D. All of the above. 

Correct Answer: D 

 

QUESTION 14

A service level agreement (SLA) can be considered a human-readable part of a service contract that extends the
technical service contract.Select the correct answer. 

A. True 

B. False 

Correct Answer: A 

 

QUESTION 15
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Which of the following characteristics of a software program enables an instance of the program to serve different
consumers, with each of these consumers isolated from one another? Select the correct answer. 

A. multi-user 

B. multitenancy 

C. multi-device broker D. elasticity 

Correct Answer: B 
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